250 EXC Six Days TPl 2018 <2018><EU><F7303R2>

TANK, SEAT
44853
@ - Z
- - ~ .
S
__ < @
‘/__/ 4
\ N /M/
o®
@
Pos Part Number Description Additional Text Quantity
1 5540711304499 Fuel Tank cpl. 1.00
2 50307011000 SCREW SEAT FASTENING D=6X23/18 1.00
3 78107008044 X4 TANK PLUG CPL. 14 1.00
4 50307014000 TANK ROLLER 12X26X12 '98 3.00
5 0026060136 COLLAR SCREW M6X13 ISA30 3.00
6 51030022000 ANGLE PIECE 90 DEGREE M10X1 1.00
7 78007000270 PVC-hose 5.6X10X270MM 1.00
8 7900805400028M Spoiler Set Sixdays 2018 WITH DECAL 1.00
10 0025060166 HH collar screw M6x16 TX30 4.00
11 79608052000 BUSH 6X11X16X5 MM 4.00




12 0017060206 SCREW F. PLASTIC K60X20AL SW6 8.00
13 79607140000 Seat Sixdays 18 1.00
14 79607140050 Seat cover Sixdays 18 1.00
15 0025060206 HH collar screw M6x20 TX30 2.00




